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Lesson

3.6 Extra Practice

Write the word sentence as an inequality.
1. A number x is at most 3. )( 2 .))
. A number y added to 2 is greater than 7. - ¥ Z227
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2

3. A number ¢ multiplied by 3 is less than —12. ‘5 & -

4. A number m minus 1.5isnolessthan 2. o\ | . S > )
5

. Your friend writes the word sentence as an inequality.
Is your friend correct? Explain your reasoning.

Three times anumberz | {(\(O [\ OY( € \(\CUW. Lo 7 i g
is more than 18.
3z<18

Tell whether the given value is a solution of the inequality.

6. 1-3>21¢=10 |0-2 272 7. 6w<—2w=1 (1) ¢-7¢ -2 0O
) 272465 :

8. p+16s4p=5 024> 3350 0 ool >
F(o£Y  bulp £H 1 3p)=3"  O7-3uea
Graph the inequality on a number Ilne

10. k> 1 Z-—\f-?ﬂ'% 11. n<-25 éﬂb——a
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12. In order to try out for one of the parts in a play at the local theater,

you must be at most 12 years old. Write an inequality that represents

this situation. kﬁ & |2 é""""—%
Tell whether the given value is a solution of the meql:ln/ lity.
2
13. 3h-T<h;h=2 7)(2}7 £ L% 1. ¢t820q=-12 =\Z+9 =, —a
-\ &2 :
15. Consider the inequalities —2x < 10 and —6 < —2x. -4 2-3 nD
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a. Isx =0 a solution of both inequalities? —2( 0\) A -l -2(0)
,@ O L ! o - (L" & D

b. Is x =4 a solution’of both inequaljties? g A

25210 ~BeD . ~lee-Z{u) -l &

¢. Find another value of x that is a solution of both inequalities.

16. The maximum area that is available for a rectangular garden is §0\quare feet.

a. Write an mequahty that represents thepossib dlmensmns for tl]\& den? \\ ,

o ot B

/ b. Find three d@ercnt sets of allo
the area of each garden.
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